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Choose appropriate alternative:

-------- marathas are brave people : _
AA B.An C.The - D.No article
Choose the comrect not only ----- but also sentence of the
given sentence: ;

karan attended to his duties. he earned promotson

A.Karan not only attended to his duties earned but ‘also

promotion -
B.karan attended not only to his duties earned but also

promotion
C.karan not only attended to his duties but’ also earned

promotlon ;
D.karan attended not only to his duties but also earned
promotion :
Choose the correct Figures of Speech in the given line
_ Death lays his icy hand on kigs.
A.personification B.simile
C.hyperbole D.antithesis
Choose the correct Exclamatory Sentence of the gwen
sentence:
They will watch interesting movie on TV.
A.How interesting movie they will watch on TV!
B.What an intersting movie they will watch on TV!
C.What a movie they will watch on TV!
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‘sentence: ,
*Australia is one of the largest islands in the world.

D.What an intersting movie will they watch on TV!

Choose the correct able to sentence of the given sentence:
The farmers could grow berries and cherries.

A.The farmers are able to grow berries and cherries.

B.The farmers were able to grow berries and cherries.
C.The farmers are able to grew berries and cherries;

D.The farmers able to grow berries and cherries.

Select the correct SO --------- that sentence of the given
sentence _ :

The passage is too difficult for us to comprehend.

A.The passage is so difficult that can be comprehend.
B.The passage is so difficult that we can comprehend,
C.The passage is so difficult that we couldnt comprehend
D.The passage is so difficult that we cant comprehend.
Select the correct passive Voice sentence of the given sentence:
Mitesh has never set foot on an aircraft.

A.Foot have never been set on an aircraft by him

B.Foot has never been set on an aircraft by Mitesh,

C.Foot has never been set on an aircraft by he

D.Foot has ever been set on an aircraft by Mltesh
The noun form of resolve is:

A.resolusion B.resolvor  C.resolation D.resolution
Select the correct Antonym of given word:

Provoke ;

A.aggravate B.incite C.dissuade D.agitate

Choose the correct Positive Degree sentence of the given

A.Very few islands in the world are as large as Australia.
B.No other islands in the world are as large as Australia
C.Very few islands in the world is as: large as Australia

D.Very few islands in the world are as larger as Australia.

Identlfy the Tense of the g:ven sentence:

37.

38,

39.

40.

41,

Sanjeevani wrote poem in the moming.
A.Simple Past Tense B.Simple Present Tense
C.Past Perfect Tense D.Present Continuous Tense
Choose the correct Indirect Speech of the given sentence:
Do you really come from india? said the reporter. '
A.The reporter asked that if they really came from India.
B.The reporter asked if they really come from India.

C.The feporter asked if they really came from India

D.The reporter asked that they really came from India.
Chooée the Correctly Spelt word from given:

A.Comitee =~ B.Comittee C.Commitee - D.Committee
Choose the correct Wh-question to get underlined part as
an answer: i

The legend tells us how the castle received its name.
A.How does the legend tell us? :

B.What does the legend tell us?

C.How do the legend tell us?

D.What do the legend tell us? Rt

Choose the correct neither------ nor sentence of the given
sentence: :

The students didnt make mistakes. The *professors toq.
A.Neither the students nor the professors' made mistakes.
B.The students neither made nor the professors made

mistakes.

C.Neither the students made nor the professors made
mistakes. , : . .
D.Neither the students nor the professors make mistakes.
Choose the correct Hardly-------- -when sentenoe of the given
sentence:

As soon as -wnay saw me comlng. he took to his heels.
A.Hardly had Vinay seen me coming when he take to his h

eels. _ : .
B.Hardly had Vinay see me coming when he took to his
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heels. :

C.Had hardly Vinay seen me coming when he took to his
heels.

D.Hardly had Vinay seen me coming when he took to his
heels. Ty

Choose the correct Clause Name of the underlined sentence:
There was silence as the leader spoke.

A.Adverbial Clause of Contrast

B.Adverbial Clause of Condition |
C.Adverbial Clause of Time - ; |
D.Adverbial Clause of Purpose -
Choose the correct preposition in the given sentence:

The judge acquitted the Prisoner------ the charge of murder.
A.from B.about C.with . D.of

Read the paragraph and choose the correct answer: (Q.No.44
to 47) " -
E.Rutherford was the son of a Scot emigrant to New Zealand.
His parents had 12 children of whom Ernest was the fourth.
His education was in a state primary school from which
children at the age of 13 could get grants of scholarships to
secondary schools and to the universities. Rutherford had
no intention of following an academic career. He was no
book-worm. He was good in any rough and tumble and a
keen football player. But he was good at Latin and he had a
passion for music and a mechanical bent of mind. At Nelson
College, a state boarding school, he was an outstanding
pupil, he sat for a scholarship to Canterbury College and
this was bbecause his masters expected it of him, and he
won it. There, Rutherford as a student was fascinated by
Hertzs work on radio waves and be began to conduct his
own experiments in the clockroom of the college, where the
students, hung their gowns. :

The phrase mechanical bent suggests theat Rutherford:

45,

46.

47,

48.

49.

50.

51.

A.was guite mechanical

B.had an aptitude for the science of machinery

C.was devoid of human warmth, emotion etc.

D.did things and lived as thoughtlessly as a machine.

E. Rutherford sat for a scholarship test because:

A his masters wanted him to.do that

B.he was a book-worm

C.he was on outstanding student

D.he thought of following an academic career

nelson College was a:

A.State boarding school in'/New Zealand

B.College in England

C.School in Scotland

D.School in theUnited States.

Rutherford carried out his own private experiments in:
A.some comer of the clockroom of Nelson College.

B.a corner of the room allotted to him in the boarding house.
C.in the laboratory of Nelson College

D.some corner of the clockroom of Ganterbury College.
Choose the correct Question Tag to the given sentence:

All his documents were confiscated. ;

A.didnt they? B.were they? C.didnt they? D.werent they’?
Select the correct polite request sentence of the given
sentence: -

Help me to reach my destination.

A.Would you help me to reach my destination?

B.Will you help me to reach my destination?

C.Can you help me to reach my destination?

D.May you help me to reach my destination?

Choose the correct Synonym of given word.

Embrace

Ahug B.reject C.shun D.slight
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